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— AKX JHl sl 800,000& *21CH 16,800
o4 gl 2,880 2,880 0
1 =2Wo Y 2,880 2,880 0
OMYIIESEED ©HHL2 =X 2,880,000& 2,880
M=l 107,000 95,000 12,000
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O&d&J| =&l 1,000, 000& *2CH 2,000
OE2Yex HIIS Ml (HIISHdel M)
14,700,000& 14,700
03 Al& 20l 324 216 108




AN SIAMY

= HIIg NN (BHEBES/HIIS)
Sl Myd| 2 Y s CERED
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
oMl =&8& ti&E6teA &X
30,000,000% =1.08/100 324
405 RHoHF S HI 5,000 0 5,000
01 AL EZFH S 5,000 0 5,000
osaea 3¢ 5,000, 000% *1H 5,000
Hass =8 s 205,850 348,000 A 142,150
206 M= Hl 21,100 10,400 10,700
01 MHZ 4l 21,100 10,400 10,700
OMEES 2l =HE 150,000 2000 2 3,000
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154,000 128 1,848
-~ &Jbs0lE HIIENANE HII23
924,000& 128 11,088
202 oddl 1,296 1,296 0
01 = LH o4 1l 1,296 1,296 0
QHIISXEIAYE 22PRFL 1,296,000& 1,296
206 = Hl 134,078 2,000 132,078
01 MHZ 4l 134,078 2,000 132,078
OHIISMHEE & 43 2,000
—HIISHYE Y8 AZ2Y
20,000& %1004 2,000
QHIIZ2HANE HeldE 132,078
—HIJISHM2ANE Helsas s 2
132,078,000 132,078
207 A RO H| 85,000 45,000 40,000
01 89 85,000 45,000 40,000
OANSZZUHEE AIZFH2 ZASS(HH, &4
&) 45,000,000 * 101 2 45,000
O22AE JsdEY 40,000,000 40,000
307 21201 A , 117,140 960, 720 156,420
05 BIZERI & 3 , 117,140 960, 720 156,420
OHIISXM2IAIE 2229 QU2 E Y , 117,140
—HII=HdelAlg 22t &
91,109,000& x12& ,093,308
—MEBHIESELAAAMNE 2 SESNSSEII 2
el 249 1,386,000 128 16,632
—MEBHIISAAANE YAIL M2 A
600,000& 128 7,200
401 Al HI YL 2 THHI 955,000 515,000 440,000
01 A& HI 948,673 511,184 437,489
OHIIZ2X2IAE X2 600,500
— A2AANE 2R HAN HABEE W= ¢ o
2 AHE B+ 163,812,000 163,812
— 22FAlE TMSEHl W 198,560, 000& 198,560
— 22N SANEE &X 138,992,000 138,992
—A2ZAE HE2L B 34,622,000 34,622
— 22AE SXEH E= 20,000, 000& 20,000
—AZANE 28 RAES 44,514 ,000& 44,514
O&&E4 0l Hel (5,850m) 65,000, 000& 65,000
ONgd dL=E(0F2, = H)
25,000,000& *2H A 50,000
O H(OF2, =, 0, &) RX L2
10,000,000._4*47H_/.\_ 40,000
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OZANE SATA 79,280, 0002 79,280
OMtEES HalF J0| B4THM
74,325,000 74,325
OSSAMLE HLEH 2L BA
39,568, 0002 39,568
03 Al = Ch bl 6,327 3,816 2,511
OHIISHANL STz 4,500
— A2AAM 2RGLM HACE LHEHE U B
S HOIE B4 165,000,000 %0.72/100 1,188
— A2AIE THSEEI DA
200,000, 0002 %0.72/100 1,440
—AANE SHNTE &3
140,000,000 *0.72/100 1,008
—AANE HEBLY 24
35,000,0002 *1.08/100 378
—AZNE ARR SN
45,000,000 *1.08/100 486
OZANMWEYH 2BLZAt 80,000,000 +0.90/100 720
OMIEE2HEIE I B2BA
75,000,002 %0.90/100 675
OSSAMLE HLEH 2L BA
40,000,0002!*1.08/100 432
HOISH2I AL FX 2 170,000 100,000 70,000
401 AIEHI L 2T bl 170,000 100,000 70,000
01 Al bl 168,776 99,100 69,676
OHDISHRIAL EHXA(HY,0h2, ZH, &
o) 168,776, 0002 168,776
03 Al = Ch bl 1,224 900 324
OHDISHRIAL ZHXR(HY, 002, ZH, &
o) 170,000,0008 *0.72/100 1,224
No Y MEN BAES(HBEE/N) 963,573 137,851 A174,278
2 139,140
z 150,000
= 65,305
2 609, 128
oY MEHEE 25 963,573 137,851 A174,278
2 139,140
z 150,000
= 65,305
2 609, 128
MRe && R 59,129 58,179 950
101 Q1248 25,229 24,279 950
VPN EENEEES 25,229 24,279 950
ORAX Reloleey(4H2) 11,234
—olzy 41,6801 *42 +602 10,004
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—4EE = 1,230,000 1,230
ORI AF THE =& HA o2 13,995
-Je23 41,6803 1 247 10,295
—F52dx 41,6803 1 x52L 2,168
-4l B8 = 1,532,000& 1,532
201 LEt29Y| 6,420 9,970 A 3,550
01 AFR2t2ldl 6,420 9,970 A 3,550
Ogt2H| 1,020
— JHRE SHEIIRI| EE =9 M
60, 000& *17JH 2~ 1,020
OFA4E stFN=E X2 4,500,000& 4,500
OZ &l 900,000& 900
202 O B 3,080 3,080 0
01 2L Y| 3,080 3,080 0
OMRs & ItRI| 424 3,080,000& 3,080
206 T 2 bl 13,550 10,000 3,550
01 X2 bl 13,550 10,000 3,550
OKREAX 22 HEFL 300, 000& * 1094 A 3,000
OSH=ZEUWlA S 23U HEFL
2,000,000& 2,000
O=2=EUdEAr 538 857¢ 5,000,000& 5,000
OPPEC #¢ 350& *3,0000H 1,050
O&ATY 2,000& =250 H 500
OREANU A= 2¢ 500, 000& *4JH 2~ 2,000
301 dEtE A= 2,400 2,400 0
09 HAIAH EA=S 2,400 2,400 0
ONHssd U= 30,0003 »20H 2 x23| 2,400
303 ZAZ 2,450 2,450 0
01 A2 2,450 2,450 0
OMRse S&IIRI 55U Al4 2,450
— 22> 700,000 101 H 700
- 500,000& *2)H & ™ 1,000
- &d 250,000 *3)HS ™ 750
307 QI2t0| ™ 6,000 6,000 0]
03 AL HAELT S 6,000 6,000 0
OMRse S IR M X
6,000,000& 6,000
GHMES B35 8,680 9,680 A1,000
201 et A | 500 3,500 A 3,000
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OtdissE & & = 25,000& »200t 2/ 500
202 44l 2,680 2,680 0
01 SLHOIYI 2,680 2,680 0
O0tdEsE 7H & 2T &=
2,680,000 2,680
206 = Hl 2,000 0 2,000
01 MHZ 4l 2,000 0 2,000
OHAESE Otds= A0l 10,0003 =100 CH 1,000
OOfds=E M & olses 7¢
100,000& »2& *54 1,000
301 et d = 500 500 0
NJIEEd=s 500 500 0
OOMEAS 2HHS AD N3
100,000& 5H 500
307 gl2tol & 3,000 3,000 0
02 QIZtFAE XS 3,000 3,000 0
O=ZE ToflEXE 2sXF 250,000 «12H 3,000
eisAE EXAY 6,000 16,000 A 10,000
< 3,000
e 3,000
307 glz2+ol & 6,000 6,000 0
= 3,000
s 3,000
02 QIZtFAEXZ 6,000 6,000 0
OEHIEXAY 6,000
— MDY SAS EXAY S
6,000,000 6,000
< 3,000
s 3,000
Ol SE Tlol 24X 81,783 69, 333 12,450
< 7,735
[ia 74,048
301 et A=z 81,783 69,333 12,450
< 7,735
[ia 74,048
MIEE43 81,783 69,333 12,450
SHEZAY 25,783
— St EsEZ 28 SAS o224
25,783,000& 25,783
= 7,735
i 18,048
OfdiorMsSEs = g I 24
6,000,000 6,000




SH: BHAMD
HaM: [ L MENH SAFALES(HFES/NHH)
Sl Kol o MEEY 25 (B9 ®R)
- _ _ RE]
SA BB (SH) - NRAY - B Ol At o %@ﬁ HRE2
OfRiotMs=Zz 21t s&= T2 A
50,000,000& 50,000
Ot ES= Iloll Ol 2 A 88,280 96,800 N 8,520
= 19,140
& 9,570
= 59,570
402 SI2FXHE0| M 88,280 96,800 N 8,520
= 19,140
& 9,570
= 59,570
01 QX228 X 88,280 96,800 A 8,520
O32HEBZAY 38,280
—fMsS=g 28 &2 LU XAE &
X 38,280,000 38,280
= 19,140
= 9,570
= 9,570
OfMES=EZ 018t &2 Ol AAE
50,000,000 50,000
Hos MEHZEE 29 22 48,701 107,859 AB9, 158
101 e1214| 2,501 0 2,501
04 JI2tHI22XNSES 2,501 0 2,501
OBYs MEHZE HEXNY o2
41,680 22 30 2,501
201 et 9,000 4,000 5,000
01 AP 2t 2] H| 4,000 4,000 0
OHUADE U ANSBE 7Y
300,000 =10 3,000
OXAs MEISISE E2S(2IZ)MHE
250 x4 ,0008 1,000
03 A2 HH| 5,000 0 5,000
OFUs MEESSE 2 AL/28 24X
5,000,000 5,000
301 et A= 7,200 8,000 A 800
11 JIEtE A= 7,200 6,000 1,200
OStZMEHHEAI &5 B4
40,000& *3H x 10«61 & 7,200
401 AlEHIZL 2 0HY| 30,000 95,859 A\ 65,859
01 Al&EH| 30,000 93,859 A 63,859
= MEIZ2E 2922 10,000,000& 10,000
OFY= MEI2LIHE 20,000,000 20,000
S MY Dl HBHAIS 171,000 180,000 A 9,000
= 120,000
= 51,000




SH: BHAMD
HaM: [ L MENH SAFALES(HFES/NHH)
Sl Kol o MEEY 25 (B9 ®R)
(o
SA BB (SH) - NRAY - B Ol At o %@ﬁ HRE2
101 2121 H] 160,350 159,173 1,177
2 112,245
= 48,105
04 JIZtHIZ22 NS E 160,350 159,173 1,177
O32HEBZAY 160,350
— Ol MY D] ASHAIE 160,350
ez 41,6802 x 17 x160 113,370
= 79,359
= 34,011
=5 UG 41,6803 x 172 30 21,257
= 14,880
= 6,377
- PSN0:1: ] 3,000 x17&H x160 8,160
= 5,712
= 2,448
AEEg = 142,787,000 *12.3% 17,563
2 12,294
= 5,269
201 LBt 10,650 20,827 N 10,177
2 7.755
= 2,895
01 AP 22| H| 10,650 20,827 N 10,177
O=ZHEXAY 10,650
— B2 H| 8,650
S MY D] =2 HER ¢ 5,650,000 5,650
2 4,114
= 1,536
S MY Dl XMeldl 3,000,000& 3,000
= 2,185
= 815
— X2 2,000
oMY Dl = HSBHAH| & Xt
500,000 =4CH 2,000
= 1,456
= 544
SH2AMH2U MEHEYSZ LAY 300,000 0 300,000
2 150,000
& 45,000
= 105,000
401 AlEHIZL 2 0HY| 300,000 0 300,000
2 150,000
& 45,000
= 105,000
01 AlEH| 297,840 0 297,840
OZAXNGLANELZ HAIS 297,840
—HLMUY MEESR LAY
297,840,000 297,840




SN HEAMD
FH: T L MEjH S2ES(BZES/NH)
Sl Kol o MEEY 25 (B9 ®R)
(o
SN BA(SA) - MRAY - BES 0l &t o il HImEET
& 150,000
< 45,000
e 102,840
03 Al =TI 2,160 2,160
OZFNALHEE 3 HALS 2,160
—E2MHU MEgEZE LAY
300,000,000& *0.72/100 2,160
FYs HZ(ECO)HE =&AY 200,000 200,000
401 AIEHIZL 20 200,000 200,000
01 A& Bl 198,560 0 198,560
OZY= (ZHE ZLAY JI28HE2
198,560,000 198,560
03 Al S THHI 1,440 0 1,440
OZFY= (ZHE ZLAY JI28HEX
200,000,000& *0.72/100 1,440
+HAR 2o (BFES/MotrE - =E) 3,531,381 2,992,517 538,864
= 779,000
s 2,752,381
A S H 2L 3,531,381 2,992,517 538,864
= 779,000
[ 2,752,381
SSHEY A2 212,845 169, 941 42,904
201 L2l 28,520 37,761 A9, 241
01 At 22l 4,580 19,365 A 14,785
Oget=&H| 2,480
—SSEY ot 2EANE Y B
80,0003 2101 & 1,680
—S&A HZR2S EBES(2EY) NH
200& *4,000% 800
O= &l 2,100,000 2,100
02 =224l 23,940 18,396 5,544
OZ2s&4 8IIL= 60,0008 #2100 &+128 15,120
OZsTA dot=ER=
35,000 *2100 & +12& 8,820
202 44l 6,480 6,480 0
01 S LHOIYI 6,480 6,480 0
O==staa 2ed83d dRF=28 6,480,000 6,480
206 M= Hl 14,485 0 14,485
01 M= 4l 14,485 0 14,485
OZE8TA JM8E 2 FL8E 29
525,000& 2100 & 11,025
ONLEaTA AMES 140,000 » 1401 2 1,960
OUs0ISsEA AMES 500,000 *304 2 1,500




SN BHSAMD
B 2FQY 2o(HYLS/MEAT - +3)
chel: sEEL CEEEED
SN ED B (3H) - MEAY - BAS Ol &F o4 ﬁlgﬁ HDZ2
307 2izto| A 83,160 79,200 3,960
05 QIZtR ES 83,160 79,200 3,960
OZ2FE3&4a o2t 83,160
—HM2AS(HA) Y
70,000 #2404 A %123 20,160
— 234 22
250,000 #2101 A~ x12& 63,000
401 Al HI L 2 0HHI 80,200 46,500 33,700
01 Al& H| 79,495 46,159 33,336
OZ2Z3&A AlE SXES 39,927
—ANEgXEE 1,187,000 x21J A 24,927
— LS EA ARESH
5,000,000 34 & 15,000
OXe7 BZSSEA AXAS 39,568,000 39,568
03 Al&E 201 Y| 705 341 364
OZ2E&A ANE FIES 273
—ANERXE 25,200,000 «1.08/100 273
OXle17 2Ss&A AXAY
40,000,000 %1.08/100 432
Xel2S4EHelAld 22 41,800 30,644 11,156
101 e1214| 11,000 0 11,000
04 J|12ZtHIZ22NEES 11,000 0 11,000
OXQIZ2=E4XHelAld g2 o2 11,000
—XNoBES2LEHHeAE 22 o8Y
53,9203 x 1 x204 11,000
201 Bt 19,600 19,444 156
01 AP 22| H| 2,800 2,644 156
Ogst=2H| 2,800
— XX AIE A2 AEE 2
148,000 x 10 1,480
— MI|otN HAH 3 2
110,000 x12& 1,320
02 2324 16,800 16,800 0
OXIEXEIAALE HMIR22
1,400,000 x12& 16,800
206 M = dl 1,200 1,200 0
01 X2 bl 1,200 1,200 0
OXBS24HNE ABRY
240,000 x5& 1,200
401 AlEHIZL 2 0HY| 10,000 10,000 0
01 Al& H| 10,000 10,000 0
OXCEBSaXHelAld BEx+ZA
10,000,000 10,000
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SN BEAMD
B 2FQY 2o(HYLS/MEAT - +3)
chel: sEEL CEEEED
SN FHE - B(SA) - MEAY - BHES Ol &+ o4 SSa HlmE2
=HelAld 22| 2,152,754 2,612,924 A 460,170
201 LBH2d| 487,630 456,883 30,747
01 At 2t 2l 12,430 12,883 A 453
O el 10,100
— 22 HM2AE BE Re=E ME
1,000,000& *13] 1,000
~JIESL YN 222 ME
2,700,000& 13| 2,700
—JIEAMSsIH 4FH AESK 2= ¥
=9 M 1,000,000& *13] 1,000
— Ot E =E2HAM =2 500,000& *23] 1,000
—AHEANL 2ANFY 2TAN 242
700,000& *23| 1,400
—a2HIANE 2RY HIIAMN 248
3,000,000& =13l 3,000
OBHIZANA Xote 2FAAN 242
1,700,000& *13] 1,700
O= &l 630,000 630
02 =224l 475,200 444,000 31,200
O3323ZLAA 475,200
—oEXadE ™D 6,600,000& x12& 79,200
—IIEER B3X2UAMNE I3
33,000,000& x12& 396,000
202 o4dl 3,888 5,184 AN 1,296
01 = LH o4 4l 3,888 5,184 AN 1,296
O=HclAlE 2| FF& 3,888,000 3,888
206 M= Hl 510,000 0 510,000
01 MHZ 4l 510,000 0 510,000
O=HANE (2R, )tE2R) 48 S 72¢
500,000,000 500,000
Oommg &7l s2M s +8 10,000, 000& 10,000
307 glz2tol & 871,236 1,504,960 A633,724
05 RIZIRI & 3 871,236 1,504,960 A633,724
OJIS AL 0
— SHEIANL DA 0l 0
O=HelAld Izt e3 871,236,000 871,236
401 Al B2 2B 270,000 540,000 A 270,000
01 A& HI 267,660 534,600 A 266,940
O=HMeANE(IIEER , 2r) sl 267,660
— A2 (0IH,2H) MIHEY =&
79,280,000& 79,280
— STESE SESAM 39,568,000& 39,568
— =X Ad HEH EMIY 39,568,000 39,568
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Mt
£HQOY MR (BBRS/MBLE - +7)
S8 ool E )
o
SN FH-SA(EN) - MBAY - BES e HlnE2
—IIEEEANE 272 DD B
20,000, 000& 20,000
— 2 HM2AE FYE2I B+
29,676,000& 29,676
— 2= XM2AE EF4H &£ 39,568,000 39,568
—2hANE ARE FNES 20,000,000& 20,000
03 Al S THHI 2,340 5,400 A 3,060
O=HelANd(tEEL . 2k) sl 2,340
— Y EIN(0IM, 0H) HIIHE =M
80,000, 000% *0.90/100 720
—STSxE SE3M
40,000, 000& *1.08/100 432
—SHeIANE Het TR
40,000,000 =1.08/100 432
—E2aHeAE FAECI B+
30,000,000% *1.08/100 324
— 2= HMeAE EFLEH 54
40,000, 000% *1.08/100 432
405 TtabF S| 10,000 30,000 A 20,000
01 AL ESH SHI 10,000 30,000 220,000
O=XclAl& I ¢ 10,000, 000& 10,000
SSHA H=ZSZLHMUE AL B 80,000 110,000 230,000
401 AIEHI L 20HEI 80,000 110,000 230,000
A& HI 79,352 108,956 A 29,604
Os3HX H=-32Held Ald |2l 79,352
~EZHATLHAY BE L AT Fy|
29,676,000 29,676
—O2H+=ZTLH2AE SFIH =4
29,676,000& 29,676
—H=3Z™eZ HIHE L e EH
20,000,000& 20,000
03 A& S THHI 648 1,044 A 396
Os3HA H=32Hel&d Ald |2 648
~-STHABLHAT BZ L LI F|
30,000,000% *1.08/100 324
—OIRHS-3LXH2AE =FIH =&
30,000,000% *1.08/100 324
2EEY 2ol 70,232 69,008 1,224
201 et 3,732 2,508 1,224
02 2324l 3,732 2,508 1,224
OARY *FEFANF 2ZAN
216,000 *3)H 2 *43] 2,592
OFH+=Z22EAMD & =ZASGAMNE =EZZA
114,000& *102] 1,140




SH: BHAMD
HE: $MQHY o (BIBE/MGHEE - £7)
ool 2B HBL (B9 ®R)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
207 A O] 66,500 66,500 0
01 289 66,500 66,500 0
Q20138 = sz el 0/dHI Y
49,500,000& 49,500
OtiE AZAIE Z2LHEY 29 17,000, 000& 17,000
IIEEI33HelAE I3 HEAY 973,750 0 973,750
= 779,000
s 194,750
401 AIEHI L 2 CHYI 973,750 0 973,750
= 779,000
i 194,750
01 A& HI 967,615 0 967,615
O=HIEZ ALY 967,615
—IIIEEE3SSH2AME JI=dH HEAY
967,615,000& 967,615
= 779,000
i 188,615
03 Al 2 THHI 6,135 0 6,135
OZHIEx= At 6,135
—IIEEE33XM2AAME JIsTE WAL
973,750,000& *0.63/100 6,135
ALZ . 9IM BRI (EA/AZ O OtorA ) 70,226 63, 144 7,082
2 741
[ 69,485
PO 2| 70,226 63,144 7,082
2 741
e 69,485
AlZotM el DBt RS 42,740 37,140 5,600
201 LBt 2t 24,460 26,360 A 1,900
01 At 2t 2l 22,540 24,440 21,900
O e8| 18,900
—fd2el =8 & MA A
4,000& *400A 1,600
—AESE Y 222 & MA
60,000 *500H 2 3,000
—SHSAE HEXE MZE 120,000 « 1504 & 1,800
—0ME =F) 225 72 450,000& 4= 1,800
—dSAE 42 EE2E ME
10,0003 1000 2 1,000
—AEE Y AMES 7Y
15,000 x2000H 2 3,000
— 2N E=AY EE2SE ME
9,000& *30001 & 2,700
— 020l AME otMae EE2E ME
3,000& 6000 2 1,800
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